BALOCHISTAN ACADEMY FOR COLLEGE TEACHERS(BACT) QUETTA

S Model Paper for Entry Test of GCC for Admission in_Class 8th
Total Marks: 100 Time allowed: 03 hours
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Objective Portion (MCQs) (40 Marks) Time allowed : 01 hour

English MCQs
Q.1. Mohenjodaro is situated near
a) Sibi b) Sukkur c) Larkana d) None of these
Q.2. Bravery and honesty are
a) Collective noun b) Concrete noun c¢) Proper noun d) Abstract noun

Q.3. A grocer is a person who sells

a) Sugar b) Vegetables c) Birds d) Computers
Q.4. The people left whenit_ dark.

a) grow b) grew c) grown d) growed
Q.5. There is not water in the jug.

a) more b) many c) enough d) too many

Q.6. A word that describes a noun is called

a) Adverb b) Adjective c) Conjunction d) Pronoun
Q.7. The baby for milk now.
a) was crying b) is crying Cc) crying d) has been crying

Q.8. The boy caught a bird.
a) A bird was caught by the boy. b) A bird was being caught by the boy.
c) A bird is caught by the boy. d) A bird had been caught by the boy.
Q.9. My father said, “Please, open the door.”
a) My father ordered to please open the door. b) My father requested to open the door.
c) My father requested for opening the door. d) My father suggested to open the door.

Q.10. “He had been studying here for ten years.” Which tense is it?

a)  Present Continuous Tense b)  Present Perfect Continuous Tense
c) Past Perfect Tense d) Past Perfect Continuous Tense
Urdu MCQs
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21: The reverse process of peristalsis is called:?9r@gﬁwffynéfwg

a) | vomiting i b) | circulation of blood ./ §u#
c) Burning e d) absorption of food tx i 61,5

22: Loss of water from surface of leaves of plants

is called: ?‘Lw/ if @v‘u(&gr.i/J u%éu,;g

a) Transportation /% /2 1.} b) Transpiration /Ll

c) Translocation u:j/ }1” I/ d) Transplantation u:f 11,:” 17
23: Where are pollen grains located in??u,?f_lgé.gu(fé_i; L‘j;{

a) Ovary &DJ;; b) Anther

c) Sepals J& ~ d) Petal uw{

24. Work as producers in grassland environment: Wy (g Z YDAV AL L e

a) Cattle (5.»" b) Insects <« k.’/
c) Plants <y d) Bacteria | /}g
25. Water is used in heavy mechanical industries for ?ﬁ;bndt&!éﬁﬁ” J&&uﬁu;}i“f}ww
a) preparing solution é La_//gd)f b) production of cooling é Ld_//léc.._«(ﬁ
c) killing bacteria cj. LL/L/&;}? d) cattle farming 43. Lcj.g&/
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26. How many oxygen atoms are present in one molecule of sugar? ?uja“_mzrfiwf{l’ b4 S PJ{? (Y

a) 6 b) 11

c) 12 d) 22

27. Which of the following is a chemical change? ?Lagl:iénl,{b«u/c_ufdj;'gzﬂ

a) Boiling of water WK&& b) | Production of energy from food L’//l,ia::étl;c;u(l/f

c) Dissolution of salt in water L'nJP K.ﬁ’uﬁ' L}E d) Freezing of water Lil{d.t.

28. How many important modes are for transmission of heat? ‘-‘u,?é{.)’(’fié{di&ud/a/li

a) 2 b) 3

c) 4 d) 5

29. What is value of refractive index for ice?

?bagogod/(refractive index) Jgi‘lKJ@!“A sy

a) 1.00 b) 1.003

c) 1.30 d) 1.33

30. Poor insulation can cause: ?Latﬁﬂgcgw/u:‘}/lgl]'

a) close circuit &/ w2 b) open circuit < /Ué/
c) parallel circuit < Sl d) short circuit &/ e

Mathematics MCQs

31. For any three sets A, B and C, AU(BUC)= AU(BUC) = JC4/B:A .:yuf(f{u’(
a) | (AUB)UC b) | AUB
c) | AU(BUC) d) | (BUC)UA

32 . The table which shows the frequency of class intervals is called---
LLL"U-?( ------- un/;wa;ﬁiuiﬁ;&’uuﬁgﬁdwuj

a) | Frequency table Jsws £ b) | Group data l&j.;;f
c) Ungroup data t;}bb‘:dju' d) Pie graph Ji//g
33. 3.45is called
sl y3.45
a) Terminating decimal b) non-terminating decimal
c) natural number d) irrational number
34. If area of a square field is 144m? then its perimeter is

< LT 2 1443 K4l Nl
a) 12m b) 24m
c) 36 m d) 48 m

35. If price of one dozen eggs is Rs. 96 then price of 15 eggs is -----------------
?Jﬁgogd/u;i‘l15?9%}/96&43Juﬁ|ﬁ/;.{1/ﬁ

a) 110 b) | 115
0 | 120 d) | 125
36.  Rate of Zakat is < U
a) |10% b) |7.5%
0 |5% d | 25%
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37. Factorize of x2+6x+9 is — UGS x2+6x+9
a) (x+3)(x+3) b) | (x-3)?
c) (x+3) (x-3) d) None of these

38. A pair of angles are said to be complementary if their sum is

AN /J 2l Uy

P
a) 180° b) 90°
c) 120° d) 360°

39. Sum of interior angles in a triangle is ---------- ‘Llﬁwg;u&;méw
a) 90° b) 360°
c) 180° d) 120°

40. In a linear equation highest power of variable is

La&n::’lbd?cwd//f:'uﬁ (linear equation) < /sl fu/

b)

d)
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Subjective Portion (60 Marks) Time Allowed : 2 hours
Short Questions Portion

English
Q.1: Answer any five (05) of the following Questions. (2 x 5 =10 Marks)

i.  Why did camels of Abdullah get fattened?
ii.  What does the word “Mohenjodaro” mean?
iii.  What wish did the fairy grant to King Midas?
iv.  Why should we use our natural gas cautiously?
v.  Make two sentences of the present simple tense.
vi.  Why did the cap seller take a short nap?
vii.  Why do developing countries lag behind in every field?

Y
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Science
Q 3. Explain human digestive system in 3 to 4 lines. (03) q/uy,utu,/ﬂf_ﬂru/w&uu
OR|
Differentiate the Transpiration and translocation.  -(/ 1 UedA gﬂ/ iRz .%J'/
Q4. Differentiate the good conductors and poor conductors. (only in 3 to 4 lines) (03) (Utus 4330 A uw/u:u)f 7 3 2
OR|
Differentiate the atomic number and mass number (3 to 4 lines). (03) (UfUJ}’/4L3)Q//uL¢J/' uﬁ/uhui/di!

Q5. What s relationship between pitch and frequency? (only in 3 to 4 lines) (04) (zus /”4434/)?‘&&}1’7 Yopnl s kG
Mathematics
Q6. Use Venn diagram to illustrate complement of A if U={1,2,3,4,——-,12}and A={1,2,3,4,5}. (Marks 03)
gL el ¥az wi S, Jetet sersine A={1.234,509 U={1,234,-- 121.)1
OR\
The area of a square field is 4225 square meter. Find the length of the side of the square. (Marks 03)
LS A S8 e 2 4225 3K L
Q7.  Solve 99 x 99 by using identity. (Marks 03)
S SF nZ S (identity) 2302599 x 99

Add (3x* +5x+7) and (6x°+8x+19) (Marks 03)
S (6x3+8x+19)51(3x% +5x+7)

Q8: 12 workers can build a wall in 8 hours. How many workers can build such a wall in 6 hours.? (Marks 04)

‘et owJ '/6 Ny (Sl sns p 2 & ..ub./S ALl 7 12
"cgu”;‘é/:’/"‘f/gf cgu"r‘{f“..{/
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Long Questions Portion

English

Q.No.1: Write a story on any one of the following. (05 Marks)
1) Greedy Dog if) The Clever Fox

By

05 - etat L L LE et L T E LI L e A1

Science
Q. 3 Describe the functions of various parts of a flower. Explain with the help of a diagram.(marks 0s)
WAoo 34 Jiuug-q/ugdwuéuﬁﬁéd;é
OR
Describe briefly the application of radiation in daily life. ( marks 05)
-Q/ugfﬁfd&’Ld/@l?’df(fl]n/)y
Mathematics
Q.4 The circumference of a circle is 525cm.Calculate the radius and diameter of the circle. ( marks 05)
L Bl BB et e 2525656 ALl
OR
The price of a washing machine is Rs.11700 inclusive of a 17% GST. What is the original price of a
washing machine? .( marks 05)
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